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Change the degree : (@)
Mohan is not the best student:
Some students are at least as good as Mohan.
(B) Mohan is better than afiy] other student.
(C) No other student is as @ood as Mohan.
~D)."'Many students are bestef)than Mohan.
M
Change the voice : -
It was high time to.remove Ghe Article - 370.
& King time was there td-Pe removed Article - 370.
(B) It was to be high time d remove Article - 370.
(©) It was-high time for (e Article - 370 to be removed.
(D) Article - 370 was to be remove at high time.

N
Change the gender of : -
'Duck’ Lo
(A) Dutch v (B) Duke
(C) Drake g (D) Dukling

. 3" . . .
Find abstract noun of the fo&wmg word from the options given.

'glutton’ —
(B) gluttoness

(A) glutony
(C) gluttoney \ (D) gluttony

Fill in the blank : |
A good man and useful citizen ............
(A) have
(C) has -

passed away.
were

(D) will
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«41 What is the reason behind the fact that the ideal regenerative cycle is
practically not possible ?

(A) The reversible heat transfer takes infinite time
@ It is mechanically impossible to exchange heat in the turbine

(C) - The moisture content of the steam in the turbine will be high
(D) All of the above :

~42 In small lot production for machining T-slots on machine tables.
it is expected to use
(A) Shaping machine
(® Broaching machine
(C) Vertical milling machine
(D)~ Horizontal milling machine

<43 Which of the following welding process results in the smallest heat affected
zone 7
(A) Shielded metal arc welding
(B) Gas welding
@ laaser beam welding~
(1) Thermit welding

.44 The process of rcheating the martensitic steel to reduce its brittleness
without any significant loss in its hardness is
(A) Normalizing (B) Annealing
(C) Quenching @ Tempering
45  An IC engine has a bore and stroke of 2 unit each. The area to calculate

heat loss can be taken .as
(A) 4m B) 57

©

(C) 6m (D) 4

46  Stirling cycle consists of

(A)

Two constant volume and two isentropic processes
@ Two constant volume and two isothermal processes
(C) Two constant pressure and two isothermal processe

(D) One constant volume, one constant pressure and two isentropic

processes
AAE (192) B 7 D
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Within boundary layer for a steady incompressible flow,
theDlbrnoulli equation

N~ is steady
(A)Ldmlds beeause the {low is sle
@)r—holds because the flow is incompressible
(C)glolds because the flow is transitional

(D)~does not hold because the flow s [rictional
AN

\\lh‘{;i{l of the bearings given below should not be subjected to a
thrust load ? '

@C:\])Dccp groove ball bearing

(B)NAngular contact ball bearing

(CgCylindrical (straight) roller bearing

(DYDSingle row tapered roller bearing

N

N
A vvéhicle suspension system consists of a spring and damper.

The stiffness of the spring is 3.6 kN/m and the damping constant of the
darfiper is 400 Ns/m. If the mass is 50 kg, then the damping factor (d)
and-damped natural frequency (f,)) respectively are

L)
(A)___{0.471 and 1.19 Hz
(BY0.471 and 7.48 Hz

(s ,
(CZ\]O.()GG and 1.35HZ
(DY3N0.666 and 8.50 Hz

i
'I‘he\S\/lcchanism used in shaping machine is
(AYDOA ‘closed 4-bar chain having 4 revolute pairs
(Btgf\ closed G-bar chain having 6 revolute pairs
LYDA closed 4-bar_chain having 2 revolute pairs and 2 sliding pairs
@g‘\j‘]/\n inversion of the single slider crank chain

AN
WHhat is meant by contact ratio in gears ?

(A) Ratio of length of arc of approach and circular pitch
(B)_ “Ratio of circular pitch-and legnth of arc of  contact
(C) Ratio of length of arc of recess and circular pitch
@) Ratio of length of arc of contact and circular pitch

8
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The pistons arc usually given a coating such as tin plating in order to

(A) Reduce weight N o

(13) Conduct_heat efliciently < | )

(C) Reduee possibility of scoring

@) Reduce frictio g

IaN

The purpose of the thermostat g0 keep the engine

(A) Hot — (B) Cool

(@ At desired temperature (D) None of the above
N

] |

A pre-combustion chamber givesr

(® Low mechanical efficiency=

(B) Clean exhaust g

(C) High brake thermal efﬁcieg(,y

(D) High volumetric efficiencyC)
=

In a simple epicyclic gear set, tg:\\e] output ‘member to increase torque in
reverse is always the

(A) Ring gear Ly (B) Planet carrier
(C)-Sun gear g (D) None of the above
(%

In a rear-drive axle, the ring géar is bolted to the
¢® Differential carrier/ o (B) Differential case

(C) Drive pinion (D).~ Axle housing

QN
The value of COP in vapour cémipression cycle is usually
(A)- Always less than unity L: @ Always more than unity
(C) Equal to unity ¢ (D) None of the above
All heat engines utilize (]
(A) Low heat value of oil ?_; (B). High heat value of oil
(C) Net calorific value of oil @ Calorific value of fuel
The process of mixing two or more streams of moist air is
@ Adiabatic « (B) Isothermal
(C) Constant volume (D) Constant pressure

Downloaded from www.marugujarat.in
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.60 Spark plug having white insulator tip indicates
(A) Over advanced ignition (B) Retarded ignition
© leaded fuet - (D) Gas leak

_61 The crossover pipe in the dual exhaust system
(A) Loosen the pipes
(B) Strengthen the' pipes
. (C) Helps reduce noise
) @ Feeds exhaust gas into the catalytic converter

........

‘62  The ‘gear shift lever requires ‘two scparate motions to.shift gears in a
transmission system are

(A) Moves the synchronizer (@) Selects the synchronizer
(C) Meshes the gears (D) Operates the clutch

63 Scavenging is usually done to increase
32 (A) Thermal efficiency (B) Speed

@ Power output (D) Fuel consumption

64 _ The seat belt tensioners_are built in the

(A) Front seats (B) Shoulder anchors

@ Seat belt retractors (D) Seat belt buckles

65 The damper fluid leakage typically occur from
(A Upper damper mounting -
(B) Bottom of damper

(Cy, Clearance between inner and outer tubes of damper
(D) Coil spring mounting

66  What is happening below the piston of a two-stroke engine at the instant
when the spark occurs ?
(B New gas is being compressed
(B) Transfer port has just opencd
(C).“New gas flowing in through the inlet port
(D) Inlet port is closed and depression is being formed
67

The crescent-shaped cavity on the piston head top surface is called as

(A) Piston oil hole @ Shap ring
(C) Valve recess

(D) Valve clearance

AAE (192) B 10
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~68 In a machining operation chip thickness ratio is 0.3 and back rake angle
of the tool is 109 what is the valuc of the shear strain, ?

(A) 0.31 B) 0.13
@ (C) 3.0 (D) 3.34

* 69 Cutting tools are provided with large positive rake-angle mainly for
(A) Increasing the strength” of cutting edge
@ (B) Avoiding the rubbing action with the finished surfaces
(C) Reducing the magnitude of the cutting force

(D) Better heat dissipation

170 Internal gears are manufactured by
() Hobbing (B) Shaping with pinion cutter
(C) Shaping with rack cutter (D) Milling

71 Dew point temperature is the temperature at which condensation begins
when the air is cooled at constant

@) Volume 7" (B) Entropy
(CN\ Pressure (D) Enthalpy
‘ L
72 Which of the following pre}ssure compounded  turbine ?
(A) Persons (B) Curtis
@ Rateau (D) All of the above

73  Kaplan water turbine is commonly used when the flow through its runner is
(A) " Axial and head available is more than 100 m
@ Axial and head available is less than 10 m
(C) Radial and head available is more than 100 m

(D) Mixed and head available is about 50 m

74 A flow field which has only convective acceleration is
(A) “a steady uniform flow i
(B) an unsteady uniform flow
@ (C) a steady non uniform flow

(D) an unsteady non uniform flow

AAE (192) B 11

Downloaded from www.marugujarat.in
For more’question papers, Visit our website www.marugujarat.in




IN

76

77

“79

@

- 80

©

81

Page 12 of 15
MaruGujarat.in

The bolts in vigid Nanped coupling connecting two shalts transmitting power
are subjeeted- o N
¢ Shear foree and bending mpment
(B)  Axial force (L)
(C)- Torsion v
(D)~ Torsion and bending monfent
(-

A flywheel is connected to le&‘ling machine has to supply energy of
400 Nm while running at a mean, angular speed of 20 rad/s. If the total
fluctuation of speed is not to exceed +2%, the mass moment of inertia

of the flywheel in kg-m? is

(A) 25 S .® 50
(C). 100 iy @ 125
—

In hollow cylindrical parts, madé_by centrifugal casting, the density of the
part is O

(A) maximum at the outer régidn

(B) maximum at the inner rer_l\_?n

(C) maximum at the mid-point between outer and inner usrfaces

(3 uniform throughout ~J

)
What is the percentage increase| in tool life when cutting speed is halved ?
(AY 50% — (B 200%
(C) 300% g (D) 400%

Which two of the following jgcs}%mg processes are autogenous ?
(i) Diffusion welding =

(ii)) Electroslag welding

(iii) Tungsten inert gas weldipg;

(iv) - Friction welding ()
(A) (i) and (iv) LO  (B) (i) and (iii) o
(C) (ii) and (iv) g (D) (i)-and (iii) 5l

In full mould (Cavity-less) casﬁaD g process, the pattern is made of
(A) Expandable polystyrene v (B) Wax
(C) Epoxy — @ Plaster of paris

A turbo charged four stroke direct injection diesel engine has a displacement
volume of 0.0259 m3 (25.9 litres). The engine has an output of 950 kW.
at 2200 rpm. The mean effective pressure in<MPa is closest to

(A) 2 B) 1
(C) 0.2 (D) 0.1
AAE (192) B 12
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Otto cycle efficiency is higher than diesel cycle efficiency for the same
compression ratio and heat input because in Otto cycle
@ Combustion is at constant volum.e .
(B) Expansion and compression are isentropic
(C)- Maximum temperature is:.‘hi@hkr
(D) © Heat rejection 18 lowerr}
For steady flow of a viscous";iﬁcon'i—ilessible fluid through pipe of constant
of diameter, the average velo’éity iﬁle fully developed region is constant.
Which one of the following ‘statesents about the average velocity in the
developing region is TRUE .2
(A) It increases until the flow i3 lly developed.
(B) It is constant and is equal to the average velocity in the fully
developed region. ™
(C) ' It decreases until the flow &fully developed.
(D) It is constant but is always, lower than the average velocity in the
fully developed region. 7
()
A metric thread of pitch 2 mm afid thread angle 60° is inspected for its
pitch diameter using 3 wire meth®d| The diameter of the best size wire
in mm is ()
(A) < 0.866 —i(B) 1.000 (
(©) 1.154 : c\](D) 2.000

A car is moving on a curved ,HOfiqgrD)Jtal road of radius 100 m with a speed
of 20 m/s. The rotating masses of the engine have an angular speed of
100 rad/s in clockwise direction when viewed from the front of the car.
The combined moment of inertia—gf the rotating masses is 10 kg-m?.
The magnitude of the gyroscopiccmoment in (N-m) is

(A) 200 Nm \(B) 100 Nm
(C)- 210 Nm —I(D) 250 Nm
i ™

Consider a rotating disk ‘cam and—3 translating roller follower with zevo
offset. Which one of the followingpitch curves parameterized by ¢, lying

in the interval 0 to 27, is associaled with the maximum translation of

the follower during one full rotatfor of the cam rotating about the center
at (x, y) = (0, 0) ? O

(A) x(r)=cost, y(t)=sint (O\]\
B)  x(t)=cost, y(t) =2 sin|

€ ()= % +cost, y(t) =/2 sint

D) x()= /z-i-cost, y(t) =sint

AAE (192) B 13
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ST On a beam axle the stub axle pivots about i
¢y Ning pue (B)  Ball joint
(WY Track rod (1) Track arm

<88 Cheek crank shaft main - hearing journals for
(A) Bend and streteh QD). Taper. fidges and out-of-round

(C) Spots and color (D)  All of the above

89  Vacuum advance mechanism operate at
(B) Heavy engine load

(A) Light engine load
(D) Nonc of the above

© High engine speed -
90 TFor the same maximum  pressure and heat supplied, the cfficiency 1s
maximum for

(A) Otto cycle @B) Diescl cycle
(C) Dual cycle (D) None of the above

91 The mixture requirement of a S.I. engine under normal running

on road 1is
@ A stoichiometric mixture (B) A rich mixture
(C) A lean mixture (D) None of the above

92 Automobile heaters are classified z{s
(A) According to the source of heat
(B) According to the source of circulating air
) Both (A) and (B)
(D) None of the abovc‘

=93  To reinstall means to
(A) Repair a disassembled part
(B) Put back the same part you removed

@ (C) Reassemble a component

(D) Remove and replace a part

~94  The stationary magnetic field in the starting motor is produced by the
(A) ( Ficld windings or permancnt magnets

@ (B). - Brushes and commutator

(C) Armature windings and commutator bars
(D) Relay or solenoid
AAE (192) B 14
Downloaded from www.marugujarat.in
For more'question papers, Visit our website www.marugujarat.in J



Page 15.0of 15

MaruGujarat.in

95 To disconnect a battery, first
(A) Remove the vent plugs
@ Disconneet the insulated cable from the battery
(C) Disconnect the ground cable from the battery
(D)~ Put the transmission in PARK or REVERSE

96 A thermister is used in an all’c;nator regulator to
(A) Control maximum voltage
(B) Control maximum current
©) Compensate for tempcrat;urc change”™

(D) All of the above

97 The battery is an clectrochemical device. This means the battery
(A) Makes chemicals by “electronic means
(3 Uses chemicals to provide electricity
(C) Has non-chemical plates
(D) Does not use an clectrolyte

98 In turbulence chamber in diesel engine

(A) The shape and layout of the piston crown, the inlet port,
and the valve produce the turbulent effect of fuel mixture

(B) Fuel is injected into an auxiliary chamber that is separated from the
cylinder by an orifice or throt

@ (C) Only a part of air charge is contained in an auxiliary chamber in which
the fuel starts to burn with insufficient air which due to explosion
tendency mixes thoroughly into. main cylinder charge

(D)~ There are no valves

-99Which one of the following sections offers .the  highest resistance

to torsion ?
(A) Flat (@ Tubularg
(C) Channel (D) Box

100 The deyice used to measure the clearance between the valye and tappet
of -an internal combustion cngincI is measured by using

(A) Snap gauge (B) Micrometer
(C) Slip gauge »@ Feeler gauge

AAE (192)_B 15
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